Q: T g AT TR 3 He F A FoAt R A Hr

1.
2.
3.

T FTHTE T 92 A1 A9 & Flehe 91T AT B
TE] AT (AT AT STERATEATE & AT TATS HU TT T[T % 9TAT HT @I F S STTEGAT § Jit F TRTae o2 2|
=g 2010 ¥ T FATATE STl & 1T H A Fgd HAT 47 2|

= 20 T e FF FEEAT F Tl IAAL HT AT FHlST 0

a) 132
b) 23
c) 133
d) 1,233
3qdL:a
ESIERIE
o  THE U AT TRY F FATH FTT TITA & TATEA STTer | Z@T IIT 9T 3T A AISIT & STA7F § 9@ H T TGT AT 3T FHAA
Ffat & T =T am
o THE U AT MR HT 2000 F ¥ LT F LATRTT TSI & TT F GRATIGE HIAT TAT AT HF TR ZahT SdT 7 qoit &
TRTEe o< T, FGF LT & T ATH(AT ZaT STSRATHATE & 9T SATST U TT GYLEAT % 2T Hl @I % T OTHgaLd|
o THE U AT IIRE, ST ATHTT AL I AT AT & Alhe ITH UTT ST 5, GATHTE, AT, AT, FATS AT ST IHuTof
FRATATH & AATAT ARATT ITAZIGANT § FTATT LT F 91T ST |
Q: TR Faat w AR fAwf:
1. AT IEATY] HATATT ST & AT § 97 THE SaTTg1 0l A w01 HL a0l gREEaET agr &l J997 7@l gl
2. #fersH afoe iwgAe 2030, TF TATHT THE FUAL ST SHad At SILTa@adq™T & A13d & gUeio 9¥ 10 a9 &7
GTHT Bl
3. WTIA F ATSTHAT T arasT 2050 TLRATSAT & AT Tl 297 & LT § FHT 47 &

= 30 T e F HLTIAT | Hel SAA< H 749 i1

a)
b)
©)
d)

132
233
133
1,233

3qa<: b

TATEAT:

£

AT 10% | FF &l TLTHTT GG 8 I Ad® THE &G Ol el Frorerl 7T H T w0 ST Al geEarit
T 60% TH TSI T AHLT TEAT g1 T HIX T T AT ST dTTet & S0, gl

FEWMRT « 2030 T AT o FHI & HILAT IAALST I 30% T FHH HileA T A AT @ g

THTT WAl TaTT ST THET et aqaras 2030 Ua AT FHEd QY 37T S(iaq At aaq@aqar & 9ed &
FEEHI0T 9% 10 a9 T @TH 2|

T AfARr | Hagi U ITaade TXRSHT w1 S=Tad Had & A10 s UHet A arast 2050 GRS & a3 9
T Tl 297 & LT | FA7 47

o T AU F HEGTT TF TS TLATSIAT T GATAT HleA & AT AL THAT AT a4t 2050 TLATSHT & q@d AT
T TEA 39T & LT | AT 14T 5




Q: A=l FoT 9= A== A
1. a3 TR qEoe arer af@re 390 7 /1T T 2
2. TRUTAT & qRATH YRATLT FT TLIAAT FLA & A0 I 9L H ool AT AT g

= 20 7T e AT AT F Tl IAAL HT FAT AHlST 0
a) Fad1
b) FAA2
c) 132
d) SULrHRT H q FIE T

Iqdl: ¢

ESLERIE

o FIE TIRT (&TRY) TR ATAT ATRZTT 29T FHT ATAT TS(T &

o THYMT & qATH ¥, JOF I 3T TIRATHAT FT STFAT il & AU I G I¥ Fe[ol AT ST 5l
o ANTATT a¥E TRIRT qeed 7 Fhgay 2021 # UF HIATATE TAATH R ST HT FATAT|

o TRY ANMAYR & dLE TRINT U AIATEIN U § AR § g 3% 3 FA1 % 918 36 IS AT ST

Q: ATZATH AT AfFA (A T AN SUA & dargl § AFAA QA FAt 9 af= T B
1. TR % AL & ATEAH F gaTS, STASATd, ST TSI 377 a3 FHAH T TLOMTATAT T TaqT T & A0 T
F T
2. FTHRT T SATHATAT S HT IS THT A THhad gl
3. TEH IRTE T AR, T4 37 siaaefta i e affew #r aau iy w1 & iU srgEa war 2

= =fT 7 e AT AT F TE SAaE w7 FAT A
a) 132
b) 2473
c) 133
d) 1,243

3qa: d
TATEAT:

N

o TIEHH AMA FHIU T I &l 3% SAHLAA 31T TS & HTLIH F gATS, TAAA, TTSSE 2T 3T TAREL A
FfREw T aar @ & v e fme R T f)

o FTHRT TrefT ATTHEATAT ST AT ALTHAT ISTH AGLT 919 5 H Tefah & ¥ T 1,000 FHATHIET TT & AHIAT AT HG
H HHTH G

o THHI TXTH TH AU, AT 3T siaieefi ST Te ¥y FT TRuta A & A AqHd FAT 2

o TUA A AST 6 HIAREIH (13 TTET) g 3T I 1.2 Hie< (4 Fle) AT 3T 2 HIeX (6.56 Fle) AT &l

o T UF TATEU-ATETHe AT SRS TATS & | FHTT T TAT AT g AT U 'ZEATOIT stfeorshe Seha aitEd &
HTLIH & ITHT 749 FHAT 5

o TN U AT UL A T F AT b HELAT TEaT & ST aF Hi 5 TR T &1 ST &, TH FLASANTHT B F o (1,
@At 'e 600 FHT (373 Hier) T Iqf & 9T AT 2l

o FMUA HRITT & 12-T2F FHET &l A9 FIAT A &, ST AT T & IS 9 T 2




Q: TfFafaf Fuet 9 af=me Fisi:
1. SRITEE Ateeft WSt sta FIAfear & a0 79T gaT gl
2. IAAT ARLIAT AT HhIA Ueh AL Araell oAl el g

= 20 T e T AEEAT F Al IAAL FT FAT IS0
a) Fad1
b) Fa 2
c) 1sfiw2
d) SULrHRT H q FE T

IqdL:a

o IAIHF Araefl TATART ST ATATEAT & A UF T Fawr g, Srae 2off ematat w7 g afeqa g 3w
Tt dT JaTe, AT SArStia T, ALAGTAHAT 3T TATHIT T AT TaT &l

o IAAT ARIIHT LA FHEHIA TF UHT AT & STTH AT FOT IGRIAT % AT AT H TG LT | T HAT TI7 AT 31T
ST o STefahter §1S I & TR da2 T¢ SRH HAT gl

Mains Question

Q: Critically analyse India’s economic growth strategy from 1950s till today. What were the various policy
interventions and constraints during these years? Give a brief note on how India can achieve the status of a
developed economy in coming years.

1950 % &% T TFH ST TF FIXT F1 ST T1HTE TTHTdT FT SAATTATTHAE TIATT FIST1G1 37 FITT % G177 TTH7177 A1aria
ETTFGT HIT ATET FAT 41?7 7 F767 T 7 FRT TF Fi7d10 TTIFITGIT FT 7T 38 TT]T F GFAT &, 3 T2 TF 9197
It &

(STHT TLIIT T 3, SIATITHT)



